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Second Paper : (2) Dusiness Budﬁﬁng
Part-1: OBJECTIVE, (", “#laximmum Marks : 40
Answer of Question Nn.1() to (x) should ot exceed 20 wortds. Each
question carries 2 marks. Answer of Question No. 2(7) do (1) should mod
exceed 50 words. Each guestion carries 4 marks.
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(i)  Give any two differences between budget and dudgeting.
Fqe o WerT § ®E o FaR 99Ed |

(i) Define flexible budget. rtuonline.com
wraer wwe = sfowfea st
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(i}  Give any two objectives of prepaning production budget,
TEEA AHZ TR ¥ ?F-EF i.'.’f EFE'W IOEA | rtuonline.com
(iv)  Write any lwo ohjects of husiness forecasting.
SrAETE YATAA & 6 < sord fate
(v} Give any two characienstics of cash budget
g a@c & of & fowan o |
(vi)  Write any two limitations of budgetary contral.
qaEd Faav & i 4w e
(vii)y Define project planning.
i fraree o i FiTa |
(viil) Whal 15 key factor 7
. HF o = B §
(ix}) Write rhe formula of matenal price vanance.
v ges faamn w1 g3 fwfad.)
(x) Diffcrentiate between nsk and uncerdainty,
ey wd AHAR=am ¥ w10 sS4 Tf R
{#)  Stale any four essentials of an a{fﬁﬂwe budgeting.
TF YU WA TR WIS T R

(1)  Differentiate belween zero-base budgeting and traditional
hudgeting. rtuonline.com

A TER AT WS YO 9T F HSY Sl i)
(o)  Write any {our characterstics of budgotary contorl.

wozdl fraam w Fa8 =wR faErrand fated |
(iv) Whar are the techmques or methods of project appraisal ?

el T A T W fah F ¥
(¥} Write any four objectives of value analysis.

g favetem & =nt = wiya fofes)

PART-II {DESCRIPTIVE)
Maximum Mark : 60
Attempt three questions, selecting one guestion from each Section
Each guestion carries 20 marks.
WiE WX ¥ & UV HW WO & O W 9 WA & I
B Wl WA 20 i w1
Section-A (®TE-H)

Define budgering., Discuss the advantages and limitations of
hudgeting. 5.10.5

AT T g FHaAg| mﬁ:wﬂmﬁmﬁmﬁﬁmaﬂhﬂl



Or ( 1ET )
Gujraj Manulacturing Limited has the production capacity of 20,000
pite per wanum. The budgeted eapeuses for 10,000 units for u
periad are listed below : rtuonline.com
e AepEattn fafrdE F1 Iered e 20,000 TREE Al 5
# | 7w 3t ¥ g 10,000 TEEH & TENEA W quE 2R Freifea
VET A

Per unit {(Rupees)

Material 40
Wages (30% variabie) 20
Manufavwring Bxpenses (407 fizxed) 10
Administative Expenses (All fixed) 5
Selling and Distribution Expenses (00% fixed) 5
Total Cost ¥l

Profil 20)

Sclling price ./ 1{x}

o
Brepare o [Texible budpet o show 70% fu@ﬁl}ﬁ\% levels of activity.

It is expected thal the present por mnie Selling price will remain
constamt up to #0% activity, beyond which a 3% reduction Is
contemphated up to 90% activiy level. Above 90% production
capactity, 215% lurther reduction in oniginol price contermplated
for cvery 5% increasc in volume. rtuonline.com 20
FRariie & 70% W@ 100% TR R T T Oh Trewie 9w
fam wifRY | T SR § FF A wfa 3w wa e e
¥ 60 TG T WO T, 3EE IS 90 Wi Franie w1 9%
58 5 WA F F 2 =) wourE ) 90 afuvm soued e
= w3 wods s TRETE W i W AeE W 2V Them w5 sl
AT BT T weE
Section-B (TOET-W)
Write short notes on any (wo of the following !

(@) Methods of preparing cash budger 10
(h)  Advamages of budgelary control in an organisation. 10
() . Eduomic feasibility study of 4 project. 10
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Or { HeEr)
From lhe following data related to a manufacturing concern, caleulule:
{1}  Material cost variance
(i1 Mgatcrial price variance and
(i) Mekrial usage variance, 1146
us Frafvt wwn | oeafay frefaiaa sl #
(y e = fae
Giy I g o ™=
(iy AT ST e

1 T ﬁﬁfm{ :
Standard (9HIY ) = rtuonline.com
Material for 70 kgs of finished producis 100 kgs
price of material. Re. | per kg
Actual { arATE® ) |
Curpnd, 2,110,000 kgs
Material used 250,000 kgs
Cost of materials ks 2,52,000
Section-C ( WUE-F )
5. Salve agy rwo problems from the fellowing <
{1}  Characteristics of value analysis. 10
() Risk evaluation sprroaches. 10
(i)  Assuming thal Lhe zated capaciry of a factory is 50,000 umits,
what should be the most profitable level of cutput ? 10
Freriafem & B fewd < guwrel =) @ wAY
(i | Fprerem 37 mﬂ- rtuonline.com
Gy e geaiss faiied
(i) TE WA §U 7 uF wcE &) Gl 6T 50,000 YERET
%, Jened 1 afbman SNTE TR A R A |
Particulars ourput upro Outpuat upto Cutpul upio
25000 units 4, (XK} units 50,000 units
(R3.) (Rs.) {Rs.)
Fixe aclg > 25,000 35.000 40,000
v:ﬁa ¢ Cost
peT umit 2 2 1.96

Selling revenus
pec unit 4 3.50 3.10



25,000 T 40 000 TR 50,000 T
(T 1) (e | (Tl )
rtuonline.com
T T 25 000 35 000 42000
uf ¥
iR w 2 2 190
Tawm 2y 9k
CEAE 4 350 .10
Or { 319t )
Calculate weighted average cost of capital from the following
miormations
Parliculars Amsunt
(1 12s.)
40,000 Couity sharez (fully paid up) 4.00,000
3,000 (6%) Debeolures 3,600,000
2.000 {6% ) Preference sharesy 2,600,000
Rerained earmangs 1,00,000

Earning per eyuity shate has been Re. | dunng (ie past years and
equity share s being sold in the market at par. Assume Corperate
Tax ai 5U0% and sharcholder’s tax liability at 25%  rtuonline.com
Fr=fafig w=ar & ot =1 Wi v =rm 37 s

faerrer T

(T2 q)
40 000 THA 3w {goien TE) 4 {03,000
3,000 {6% )FAT 2 00,000
2,000 (6% ST A 2 00,000
gfavrir wm 100,000
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